relizdou €e'e 000 00°0 00°0 000 0s‘y 1eqfo[oA 9L91 81
1efiydou TO°LT Se‘6l 00°8¢ 00°ST 00°0 SL'L Teqfo[oA €807 L1
1elizdou TL'8T $6°7C 008 00°€T 000 0€°9 [eqla[oA 6vLT 91
1efizdou 8€°0€ SL'PT 00°8¢C 00°LT 000 08°S LB 0£8¢ Sl
1efiudou €0°ce 06°LT 00°C€ 00°0€ 00°0 06°S 1eqlo[oA S191 4
1efiydou ST’y $6°TT 00°CE 00°61 0€4T S€C [eq[o]OA zell €l
1efizdou LEIS OT‘LT 00vC 001 0S‘1€ ss'e [eq[s[oA €681 zl
1efiydau €696 oyl 00°61 00°€l ov'LE 09y 1eqlo[on 80ST I
1efizdou TTLS 07T 00°6T 00°0T 00°LT 09‘8 [eqlo[oA 18LT 01
1efydou 05°6S 0€bT 00°¢€e 00°12 0€°€E 08°‘T 1eqfo[oA 897C 6
1efizdou L6°09 0L0T 00°v€ 00°C1 0F°T€ 08°L 1eqfo[on 769 8
1efizdou 0L‘19 00°LT 00°6€ 00°1T OL'PE 00°0 1eqfo[0A oLl L
Jelud 88°79 - SHST 00°9C 00°S1 00°TH 0T [eqfojop 9591 9
1eliyd S09 S0°TT 00°Z€ 00°L1 0Ss‘or 00°1 [eqlao[oA €201 S
1elizd $T59 $6‘TT 00°v€ 00°L1 0€‘Ty $0°0 [eqlojop 0581 4
1efiud 0€°69 0€VT 00°1¢€ 00°€T 00°St 00°0 [eqforoA 14444 €
1elixd LT98 00°9€ 00°0Y 00°0¥ (11822 SH9 1eqlarop 8€TT 4
yelid $698 SL‘EE 00°0% 00°S€ 0T'ey 00°01 Jeqfojop Twic I
| oty | it | vtoey | o | e | veiiioniig | WSS | poy | o
toadsoid SN e Ty e e S o GT-8T0T MOADITHT JUA0FI0TS 55 WNTZPUMIAL) - JoOYZ YooDuTd Typojsa]

810T'¥0°LT

01 YD ‘L] JUorodiyd Wimpuusn




